NAME.................................................................ADM NO.............CLASS........

TERM TWO END OF TERM EXAM 2010
MATHEMATICS FORM 1

ANSWER ALL QUESTIONS IN THE SPACES PROVIDED 

1. Evaluate:									(3 mks)

15/9 of 21/7 ÷ 11/2 x 4/5















2. 3/5 of pupils in a school are boys. If there are 96 girls in the school, how many pupils are there in the school?					(3 mks)







[bookmark: _GoBack]




3. Arrange the following in ascending order.				(2 mks)
4/5, 7/9, and 8/5




4. Simplify and evaluate.

a) 44 – (15 + 7) ÷ 11							(2 mks)








b) (-20) – (-15) – (-8)							(2 mks)







c)   -4 x (-5)2									(2 mks)
         -(10)2







d) -18 x -8 ÷ 4								(2 mks)





5. Four light signals are programmed at intervals of 40 seconds, 50 seconds, 60 seconds and 75 seconds. What is the earliest time they will give out light signals simultaneously if the last time they did this was at 8.15 am?									(4 mks)

















6. A number n is such that when it is divided by 27, 30 and 45, the remainder is 3. Find the smallest possible value of n.	(4 mks)

















7. Find the perimeter in each of the following cases given in centimeters.

a)										(2 mks)











b) 











c)										(3 mks)













8. Evaluate:

a) 1.372 + 2.008								(1 mk)




b)  9.93 x 5.94								(3mks)
     0.0331 x 1.1













9. Express as fraction

a) 1.523									(2 mks)








b) 0.7										(2 mks)






10.  Write the following numbers in symbols.				(6 mks)

a) Forty million, six hundred thousand and six.




b) Five hundred and ninety million, seven hundred thousand, five hundred.




c) Thirty five billion, nine hundred thousand and ten.





d) Eighty billion, forty five thousand.





e) Sixty nine thousand, eight hundred and one.




 

11.  When a number is divided by 15, the quotient is 18 and remainder 5. What is the number?							(2 mks)






12.  a) Factorize completely;

3x2 + 4y – 4xy – 3x								(4 mks)














b) A father is three times as old as his son. Find an expression for the product of their ages five years ago, if the son is x old.		(4 mks)











13.  I) Use tables to find the square of the following numbers.	(4 mks)

a) 6.438




b) 2.78


ii) Use tables to find the square root of the following numbers. (4 mks)

a) 0.009823







b) 7.326








14.  a) Find the prime factors of 113400 and express them in power form.										(4 mks)











b) Write down all multiple f 6 less than 60.				(2 mks)






15.  a) The shaded region shows the area swept out on a flat windscreen by a wiper. Calculate the area of the region.				(4 mks)























b) Two equal circular sheets of metal of radius 0.7m are cut from a rectangular sheet measuring 2m x 3m. Find the area of the remaining sheet.										(4 mks)












16.  Which of the following numbers are divisible by all the four numbers 2, 3, 4, 5.									(6 mks)

a) 7, 20




b) 87400




c) 10,320




d) 57435




e) 637,510



f) 32,432




17.  a) Find the G.C.D of 42, 105, 63.					(3 mks)







b) Find the greatest number which when divided by 181 and 236 leave a remainder of 5 in each case.						(3 mks)
















18.  a) Write the following ratios in their simplest form.		(4 mks)

i) 36 min : 1hr




ii) 3cm2 : 100mm2





b) Find the ratio a:c if

a:b = 3:5 and b:c = 6:5






c) Fifteen tractors, each working eight hours a day, take eight days to plough a piece of land. How long would it take 24 tractors, each working 10 hours a day, to plough the same piece of land?			(4 mks)
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